RSE120051C

RSE120051C

S/

\

SOCKET\?<

\
—1

INSTALLATI

31S002Z13sy

REV ECN APPD
450 - -— - 3709 | JC 3/26/99
| = 098 3 B - A | 5252 | JT 6/5/03
. 375 ~ = B | 5460 | JT 5/24/04
- C | 5579 | JT 01/06/05
}«— 880 — = # -300 % .063 POLARIZING HOLE 5 5582 JT 01/06/
150 —=| | .230 MIN DEEP
L . —
213
+>7*— 425 * 4 4 N ~N +
_L J_ * 39 I : g% L - WWH— | ——— 1
1.075 + A \ Y /) t .
A
RECOMMENDED MOUNTIN 80
PANEL HOLE .075
1.075
1.437 MAX REEZ2OTNC
APCDOD YORORA \/
X Y/
2X.112-40 UNC-2A IDENT. MARKING T
.093 .06 HT, COLOR: WHITE - 290 NOTES:
oX 164-32 UNC-2A 187 — I 570 ; . ﬁlo\;iggmfg TO PERFORMANCE REQUIREMENTS OF MIL-S-12883.
l " "HOUSING AND WIRE SUPPORT: POLYETHERIMIDE
= [\ | ! COLOR: BLUE-GREEN
A * \ o83 GROMMET: SILICONE ELASTOMER, COLOR: RED
I RSEI2005iC 3. COMPLETE MOUNTING HARDWARE SUPPLIED PER TABLE.
2X .112-40 UNC-2A B95MAX - 4. SOCKET CONTACTS SUPPLIED PER TABLE.
T APCD XXXX ! 5. OPERATING TEMPERATURE: +125° C / -65° C CONTINUOUS.
\ 6. CONTACT INSTALLATION TOOLS:
Y CRIMP TOOL: M22520/7-01
¥ \ POSITIONER: M22520/7-12
RELAY DATE CODE INSERTION/REMOVAL: M81969/16-01
- 665 MAX —=
MOUNTING STUD, FIXED WIRE SEALING GROMMET/
.112-40 HEX LOCK NUT, - 76 MAX —=
TORQUE TO 4+ 1 INCH-POUNDS WIRE SUPPORT BILL OF MATERIALS
APCD
(5) #4 FLAT WASHER ” X PN DESCRIPTION QTY.
164.32 HEX NUT 200003801 HEX NT SLF-LCKG 4-40 #704 4
TORQUE TO 15.1 INCH-POUNDS 200000401 FLT WSHR #4 SPCL #706 2
— 200007201 HEX NUT SLF-LCKG #8-32 2
I j : ) #8 FLAT WASHER L 200004001 FLT WSHR #8 PSVTD #501 2
| a%?_gg)oﬂ #gngﬁTE NK 200002801 FLT WSHR #4 PSTVD #504 2
< CNS101553 M39029/101-553 CONTACT SZ20/20 8
"~ 093 MAX THK. PANEL OPTIONAL
#4 FLAT WASHER DIMENSIONS | TOLERANCES | PROJECTION Am ph en 0| P Cd TITLE RELAY SOCKET. EMBRAER
ANSI Y14.5M XX 4001 4 !
1240 HEXLOCKNUT, @ o8 UNITS: INGHES | XXX £0.005 @ Q SPECIFICATION DRAWING 2- POLE, 8 POSITION,
Pro/E FILE ANGLES +20° ENGR 5-AMP, SIZE 20
A. PATRIE 03/25/99
MQNUWNQEHAE%V%TRSM NUMBER ORIGINAL s pocuenr covrans | O *’SE DWG No. RSE120051C ”’5"
PROPRIETARY INFORMATION WHICH .
TYE 2 PLAGE oF Peo. G PEABODY, M. Usa | 7 J. TON 06/05/03 CODE: 58982 SCALE: 21 SHEET 1 OF 1




